


genetically different




Two Meiosis I Meiosis II

IT. Meiosis I




a. Nuclear envelope
disappears

b. Nucleolus
disappears

c. Spindle fibers form

d. Chromatin
condenses to form
visible
chromosomes




J-ver

homologous chromosomes
tetrad

Crossing Over

genetic
variation




a. line up
in middle of cell

b. Spindle fibers
attach to
centromere of

NOTICE HOW NO TWO STRANDS ARE ALIKE!



a.
separate

b. Cytokinesis
begins




4. Telophase I-

5. Cytokinesis I-

(Both Cells are genetically different from the
parent cell, and each other due to crossing over).







(like in mitosis-except they

are genetically different).




1. PROPHASE IT




a. Chromosomes line up
in iddle of cell

b. Spindle fibers attach

to of
chromosomes

a. Chromatids separate
(move part/ way)
becoming individual
chromosomes.

b. begins




a. Nuclear membrane
reappears

b. Nucleolus reappears

c. Spindle fibers break T -"-—j':
down _:

d. Chromosomes begin
uncoiling back to
chromatin

a. Cytoplasm finishes pinching in.

b. After cytokenisis IT finishes-Four cells have
formed



f. End result: 4 genetically different
gametes with the haploid (N) number of
chromosomes, for reproduction!













Start of
Meiosis 2
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